Math 120/121

Writing Linear Equations
1)  A high school drama club finds that they can sell 500 tickets to the school play if they charge $5.50 for each ticket.  A survey of students indicates that for each dollar the ticket price is lowered, the average number of tickets sold will increase by 100.  
Write a linear model which expresses number of people who purchase tickets (N) as a function of the price of a ticket (P).  What is the physical meaning of the slope in this linear relationship?
2)  Adam makes and sells birdhouses at local craft fairs. He has been selling about 35 each weekend if he charges $10.00 each. He has found that if he raises his price to $12.00 he sells 6 less birdhouses each weekend.
Write a linear model which expresses number he sells each weekend (N) as a function of the price of a birdhouse (P).  What is the physical meaning of the slope in this linear relationship?
3) A car rental company charges a daily rate for the rental of a mid-size car.  In addition it charges a fixed rate per mile driven.  On a given day one customer rented a car and drove it 63 miles.  His total bill was $44.45.   A second customer rented a car and drove it 171 miles.  Her total bill was $60.65.

Write a linear model which expresses the customer’s total bill (B) as a function of the number of miles driven (N).   What is the physical meaning of the slope in this linear relationship? 
4)  A bus company offers a full day tour of Albuquerque.  The bus will hold 40 people. If 25 people sign up for the tour, the cost will be $60.00 for each person. For each additional person who signs up, the price per person is reduced by $2.00.  

Write a linear model which expresses the price per person (P) as a function of the number of people who sign up (N).  What is the physical meaning of the slope in this linear relationship?
5)  An investor purchases an apartment complex.  The previous owner charged  $460.00 per month for a single apartment and on average rented 28 apartments at that price.  The investor discovers that for every $30 he raises the price another apartment stands vacant.  

Write a linear model which expresses number of rented apartments (N) as a function of the cost of an apartment (C).  What is the physical meaning of the slope in this linear relationship?

6) A construction company lays wood floors.  The total cost for having a floor installed is made up of two parts.  There is a flat installation charge and a charge per square foot for the amount of floor installed.  The Smith’s had 875 
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installed and their total bill came to $3843.75.  The Kentons had 1900 
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 installed and their total bill came to $7585.00.

Write a linear model which expresses the customer’s total cost (C) as a function of the number of square feet installed (F).   What is the physical meaning of the slope in this linear relationship? 
7)  The Boy Scouts sell pumpkins in the fall.  They have found that they can sell 600 pumpkins if they charge $6.00 for each pumpkin.  If they charge $5.00 for each pumpkin they can sell 800 pumpkins.
Write a linear model which expresses number of pumpkins sold (N) as a function of the cost of a pumpkin (C).  What is the physical meaning of the slope in this linear relationship?

 8)  A company has just purchased a new printer for $3600.00.  The company chooses to depreciate the printer using the straight-line method over three years. (This method assumes that at year zero, the computer is worth what it cost, and after three years it is worth nothing)
Write a linear model which expresses value of the printer (V) as a function of the length of time owned (Y).  What is the physical meaning of the slope in this linear relationship?
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